. Ava put brownies on each tray. If there were trays, how many
brownies were there all together? (6,4) (13,7)

. There are bags in the gym with basketballs in each bag. How
many basketballs are there all together? (3,10) (24,5)

. Miss Barclay put oranges in each basket. If there were ___ baskets,
how many oranges were there all together? (4,10) (15,6)

. There are baskets in the gym hall with rubber balls in each
basket. How many rubber balls are there all together? (6,2)) (4, 45)

. There are classrooms in the school with computers in each
classroom. How many computers are there all together? (10,6) (8, 23)

. Miss Hanlon placed rocks in each pile. If there were piles, how
many rocks were there altogether? (3,5) (28, 4)



